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1. ©Û¤øÍ¬ÛÁéõ”ÛÛ¶ÛÛ× ÅÛ“Û¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé ©Û¬ÛÛ ©Û¤øÍ¬ÛÁéõ”ÛÛ ÜÈÛÊÅÛéÌÛ¨Û ³ùÛÁõÛ •ÛóÛÐüïõ¶Ûà ÍÛ¾Û©ÛäÅÛÛ ÍÛ¾Û›ÛÈÛÛé. 14 

 Explain the various characteristics of indifference curves. Discuss the consumer’s 
equilibrium with indifference curves analysis. 

…¬ÛÈÛÛ/OR 

 ‘ÍÛÛ¾ÛÛ¶ýÛ’ …¶Ûé ‘•Ûàºõ¶Û’ ÈÛÍ©Ûä…Ûé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× Ýïõ¾Û©Û …ÍÛÁõ¶Ûä× ÜÈÛ½ÛÛ›÷¶Û ˜Û˜ÛÛë. 

 Discuss decomposing price effect in ‘normal’ and ‘Giffen’ goods. 

 

2. Ü¼Û¶Û ¸Ûó¾ÛÛ¨ÛÍÛÁõ ÍÛÛµÛ¶Û ÍÛ×ýÛÛé›÷¶Û¶ÛÛ× Ü¶ÛýÛ¾Û¶ÛÛ× ÜÈÛÜÈÛµÛ ©Û¼Û‘õÛ…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 

 Discuss the various phases of law of variable proportions. 

             …¬ÛÈÛÛ/OR 

 (1) ïõþù-ÜÈÛïõÛÍÛ¶ÛÛ× ÅÛÛ½ÛÛÅÛÛ½Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

  Discuss the advantages and disadvantages of returns to scale. 

 (2) ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û¶ÛÛé ”ýÛÛÅÛ …Û¸ÛÛé. 

  Explain the concept of Break-even analysis. 

 

3. ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ¶ÛÛ× ¼Û›ÛÁõ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. …Û ¼Û›ÛÁõ¾ÛÛ× ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¸Ûé§øà¶Ûà …¶Ûé Š²Ûé•Û¶Ûà 
ÍÛ¾Û©ÛäÅÛÛ þùÉÛÛÙÈÛÛé.  14 

 Discuss the meaning of perfectly competitive market. Explain the long-run equilibrium 
of the firm and industry in it. 

…¬ÛÈÛÛ/OR 

 (1) ˆ›ÛÁõÛ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¶ÛÛ× ¼Û›ÛÁõ¾ÛÛ× Ýïõ¾Û©Û ½Ûéþù½ÛÛÈÛ îýÛÛÁéõ ¶ÛºõÛïõÛÁõïõ ¼Û¶Ûà ÉÛïéõ ? ˜Û˜ÛÛë. 

  When is price discrimination profitable in monopoly market ? Discuss. 

 (2) Ü³ù¸Û“ÛàýÛ ˆ›ÛÁõÛ¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé. 

  Explain the concept of bilateral monopoly. 
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4. …¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ¶ÛÛ× ¼Û›ÛÁõ¶ÛÛ× ÅÛ“Û¨ÛÛé ˜Û˜ÛÛë. …Û ¼Û›ÛÁõ¾ÛÛ× ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ þùÉÛÛÙÈÛÛé. 14 

 Discuss the various characteristics of monopolistic competitive market. Examine the 
long-run equilibrium of the firms (group) in it.  

                …¬ÛÈÛÛ/OR 

 (1) ÈÛé˜ÛÛ¨Û ”Û˜ÛÙ¶Ûà ¾ÛÛ×•ÛÁéõ”ÛÛ Š¸ÛÁõ¶Ûà …ÍÛÁõÛé ›÷¨ÛÛÈÛÛé. 

  Explain the various effects of selling cost on demand curve. 

 (2) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ×•ÛÁéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë. 

  Discuss the concept of kinked demand curve. 

 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé. 14 

 Choose correct answer : 

 (1) šýÛÛÁéõ …éïõ ÈÛµÛÛÁõÛ¶ÛÛ× …éïõ¾Û ¾ÛÛ¤éø, ¸ÛÛé©ÛÛ¶Ûà ¸ÛÛÍÛé¬Ûà ÈÛÍ©Ûä¶ÛÛ …Ûé™öÛ …éïõ¾ÛÛé ›÷©ÛÛ ïõÁõÈÛÛ ©ÛíéýÛÛÁõ 
ÐüÛéýÛ ©ýÛÛÁéõ ÍÛà¾ÛÛ×©Û …ÈÛéœ÷¶ÛÛé þùÁõ ______ ¬ÛÛýÛ ™öé. 

  (a) ÈÛµÛ©ÛÛé (b) ÜÍ¬ÛÁõ (c) –Û¤ø©ÛÛé 

  The consumer is willing to give up lesser amount, in order to obtain one 
additional unit of good. It indicate that the marginal rate of substitution is _____ 

  (a) increase (b) constant (c) decrease 

 

 (2) •ÛóÛÐüïõ¶ÛÛ× ÍÛ¾Û©ÛäÅÛÛ¶ÛÛ× Ý¼Ûþäù…é ÍÛà¾ÛÛ×©Û …ÈÛéœ÷¶ÛÛé þùÁõ = ______ ¬ÛÛýÛ ™öé. 

  (a) •ÛóÛÐüïõ¶Ûà ¸ÛÍÛ×þù•Ûà (b) ©Û¤øÍ¬ÛÁéõ”ÛÛ¶ÛÛé §øÛÇ (c) ÈÛÍ©Ûä…Ûé¶Ûà Ýïõ¾Û©Û¶ÛÛé þùÁõ 

  At the point of consumer’s equilibrium, the marginal rate of substitution = _____ 

  (a) Consumer’s preferences 

  (b) Slope of the indifference curve 

  (c) Price ratio of the goods 

 

 (3) •Ûàºõ¶Û ÈÛÍ©Ûä…Ûé¾ÛÛ× …ÈÛéœ÷ …ÍÛÁõ ïõÁõ©ÛÛ× ______ ÈÛµÛä ©ÛàÈÛó ÐüÛéýÛ ™öé. 

  (a) ÐüïõÛÁõÛ©¾Ûïõ …ÛÈÛïõ …ÍÛÁõ 

  (b) ¶ÛïõÛÁõÛ©¾Ûïõ …ÛÈÛïõ …ÍÛÁõ 

  (c) Ýïõ¾Û©Û …ÍÛÁõ 

  In ‘Giffen’s goods _______ is stronger than substitution effect. 

  (a) Positive income effect 

  (b) Negative income effect 

  (c) Price effect 
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 (4) …éïõ ›÷ ©Û¤øÍ¬ÛÁéõ”ÛÛ¶ÛÛ× ›ä÷þùÛ-›ä÷þùÛ Ý¼Ûþäù…é _____ ÍÛ×©ÛÛéÌÛ ¸ÛóÛ¸©Û ¬ÛÛýÛ ™öé. 

  (a) …éïõ ÍÛÁõ”ÛÛé (b) ›ä÷þùÛé-›ä÷þùÛé (c) …ÍÛ×”ýÛ 

  The difference points on one indifference curves give _____ satisfaction. 

  (a) equal (b) different (c) plenty 
 

 (5) ¤æ×øïõÛ•ÛÛÇÛ¶ÛÛ× Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ¾ÛÛ× ______ ÍÛÛµÛ¶ÛÛé¶Ûä× ¸Ûó¾ÛÛ¨Û ¼ÛþùÅÛà ÉÛïõÛýÛ ™öé. 

  (a) ¼ÛµÛÛ ›÷ (b) …¾Ûäïõ ›÷ (c) ÍÛ×¸Ûæ¨ÛÙ 

  In short run production function _______ inputs are changeable. 

  (a) all (b) a certain (c) complete 
 

 (6) Ü¼Û¶Û ¸Ûó¾ÛÛ¨ÛÍÛÁõ ÍÛÛµÛ¶Û ÍÛ×ýÛÛé›÷¶Û¶ÛÛ Ü¶ÛýÛ¾Û¶ÛÛ× ªÛà›Û ©Û¼Û‘õÛ¶Ûé ______ ©Û¼Û‘õÛ ©ÛÁõàïéõ 
…ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  (a) ÈÛµÛ©Ûà ¸ÛéþùÛÉÛ¶ÛÛ  (b) –Û¤ø©Ûà ¸ÛéþùÛÉÛ¶ÛÛ (c) ¶ÛïõÛÁõÛ©¾Ûïõ ¸ÛéþùÛÉÛ¶ÛÛ 

  The third phase of law of variable proportions is known as _______ 

  (a) increasing returns (b) decreasing returns (c) negative returns 

 

 (7) Š©¸ÛÛþù¶Û¶ÛÛ× ¼Ûé ÍÛÛµÛ¶ÛÛé¶ÛÛ ÍÛ×ýÛÛé›÷¶Û ³ùÛÁõÛ …éïõ ÍÛÁõ”Ûà ¸ÛéþùÛÉÛ þùÉÛÛÙÈÛ©Ûà Áéõ”ÛÛ¶Ûé ______ 
ïõÐéüÈÛÛýÛ ™öé. 

  (a) ©Û¤øÍ¬Û Áéõ”ÛÛ (b) ÍÛ¾Û-”Û˜ÛÙ Áéõ”ÛÛ (c) ÍÛ¾Û-Š©¸ÛÛþù¶Û Áéõ”ÛÛ 

  An _______ is the locus of all the combinations of two factors of production that 
yield the same level of output. 

  (a) indifference curve (b) iso-cost curve (c) iso-quant curve 

 

 (8) Š²Ûé•Û ˆÌ¤ø ïõþù ¸ÛóÛ¸©Û ïõÁéõ ¸Û™öà ›÷ ïõþù¶ÛÛ ______ ¸ÛóÛ¸©Û ¬ÛÛýÛ ™öé. 

  (a) •ÛéÁõÅÛÛ½Û (b) ÅÛÛ½Û (c) ÍÛ¾ÛÛ¶Û ÅÛÛ½Û 

  After the point of optimum size, the industries will get _______ of returns to 
scale. 

  (a) disadvantages (b) advantages (c) equal benefit 

 

 (9) ¸Ûé§øà¶Ûà Š©¸ÛÛþù¶Û¶Ûà ÍÛ¾Û©ÛäÅÛÛ…é ÍÛà¾ÛÛ¶©Û ”Û˜ÛÙ ______ ÐüÛéÈÛä× ›Ûéˆ…é. 

  (a) –Û¤øÈÛä× (b) ÜÍ¬ÛÁõ (c) ÈÛµÛÈÛä× 

  At the firm’s production equilibrium point the marginal cost must _______ 

  (a) decrease (b) equalise (c) increase 
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 (10) šýÛÛÁéõ ¾ÛÛ×•ÛÁéõ”ÛÛ¶Ûà ¾ÛæÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ ÉÛæ¶ýÛ ÐüÛéýÛ ©ýÛÛÁéõ, ______ ˆ›ÛÁõÛé ïõÐéüÈÛÛýÛ. 

  (a) ÉÛä±ù (b) ÍÛÛ¾ÛÛ¶ýÛ (c) …¸Ûæ¨ÛÙ 

  When the demand elasticity is zero, it is _____ monopoly. 
  (a) pure (b) normal (c) impure 
 
 (11) ˆ›ÛÁõÛ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× Ýïõ¾Û©Û ½Ûéþù½ÛÛÈÛ ©ýÛÛÁéõ ›÷ ¤øïõà ÉÛïéõ, šýÛÛÁéõ ______ …ÉÛîýÛ ÐüÛéýÛ. 

  (a) ÈÛÍ©Ûä¶Ûä× Š©¸ÛÛþù¶Ûù (b) ÈÛÍ©Ûä¶Ûä× ¸Ûä¶Û:ÈÛé˜ÛÛ¨Û (c) ÈÛÍ©Ûä¶Ûà ”ÛÁõàþùà 

  In the monopolistic condition the price discrimination can sustain itself when 
_______ is impossible. 

  (a) production of goods 
  (b) resale of goods 
  (c) purchase of the goods 
 

 (12) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ×•ÛÁéõ”ÛÛ¾ÛÛ× Ýïõ¾Û©Û _______ ÐüÛéýÛ ™öé. 

  (a) ›÷¦ø©ÛÛù (b) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ (c) ÍÛ¾Û©ÛäÅÛÛ¾ÛÛ× 

  In kinked demand curves the price is _________ 
  (a) rigid (b) flexible (c) equilibrium 
 
 (13) _______ …é ˆ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ¶Ûä× ¾Ûä”ýÛ ÅÛ“Û¨Û ¶Û¬Ûà. 

  (a) ÈÛé˜ÛÛ¨Û ”Û˜ÛÙù (b) ÈÛÍ©Ûä ÜÈÛÜ½Û·Û©ÛÛ (c) Ýïõ¾Û©Û ÜÍ¬ÛÁõ©ÛÛ 

  _______ is not a characteristic for monopolistic competition. 
  (a) Selling cost 
  (b) Product differentiation 
  (c) Stable price 
 

 (14) Ü³ù¸Û“ÛàýÛ ˆ›ÛÁõÛ¶ÛÛ× ¼Û›ÛÁõ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× _______ ÐüÛéýÛ ™öé. 

  (a) …éïõ ÈÛé˜Û¶ÛÛÁõ-…¶Ûéïõ ”ÛÁõàþù¶ÛÛÁõ 

 ù (b) ¼Ûé ÈÛé˜Û¶ÛÛÁõ-…¶Ûéïõ ”ÛÁõàþù¶ÛÛÁõ 

  (c) …éïõ ÈÛé˜Û¶ÛÛÁõ-…éïõ ”ÛÁõàþù¶ÛÛÁõ 

  A bilateral monopoly is a market where there are _______ 
  (a) one producer – many buyer 
  (b) two producer – many buyer 
  (c) one producer – one buyer 

_______________ 
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